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S=MH0E AR JIXIXI (BEAI) 10,200 0 10,200
= 4,080
Al 6.120
201 er23| 8,500 0 8,500
= 3,400
Al 5,100
01 AtR2t2|HI 8,500 0 8,500
SULEIERES={CEEL]) 8,500
= 3,400
Al 5,100
202 04| 1,700 0 1,700
= 680
Al 1,020
01 L0t 1,700 0 1,700
0012/ BALEH(#HAHI) 1.700
= 680
Al 1,020
SAHOE BUX JIXKR HAAAY R 1,200 0 1,200
s 480
Al 720
201 =3 1,200 0 1,200
= 480
Al 720
01 AFR2t2|H 1,200 0 1,200
O44Y0IE BT XX HAAIAY
R 1,200
== 480
Al 720
M ool AOFEHNS XY 81,600 9,800 A13,200
= 57,120
= 7,344




SN RTED
M HY20F FMH 235}
Rl HgEER 2gael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 17,136
307 gl2tol & 81,600 94,800 213,200
= 57,120
= 7,344
Al 17,136
02 2IZHBYAIHE X 81,600 94,800 A13,200
OoFENge xRN 81,600
= 57,120
& 7,344
Al 17,136
ool =SXAE K& 180,000 140,000 40,000
= 180,000
402 212 X201 & 180,000 140,000 40,000
& 180,000
02 QI XHE AL E R (01X THEH) 180,000 140,000 40,000
Oojgdel =X Al X3 (EEZALY) 180,000
== 180,000
BAl= JrAte KA 1,080,000 1,413,641 N\333,641
S 324,000
Al 756,000
307 @120l & 1,080,000 1,413,641 A333,641
== 324,000
Al 756,000
02 LB HANHEE 1,080,000 1,413,641 A333,641
OBAIS JtAtE X2 1,080,000
< 324,000
Al 756,000
NS AIAIY =& 11,000 11,000
201 er2&| 5,000 5,000
01 At2teltl 5,000 5,000
ONYEEHAY 2d2e| =8 5,000
202 04| 5,000 5,000
01 2L A LI 5,000 5,000
OHOEH 2l & OHUIMEE =& 5,000
203 gF=4| 1,000 1,000
03 A=A =] 1,000 1,000
ONYAE AIZAY E= =X 1,000
NS EEHHMAIZ 14,430 0 14,430
307 elzto| & 14,430 14,430
02 2IZHBHAIHE & 14,430 14,430
Ogealatd d&X Uel &It 6,300
OXtE22loe tal FIHKIA 3,000




A OlREED
B2 OIQYEOF W 25
Rl HgEER 2gael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Ozoieln asts A3 ke 5,130
HYE SEI2AL e 135,000 0 135,000
= 135,000
40 QIR0 & 135,000 0 135,000
= 135,000
EEPENEEESWEIEY 136,000 0 135,000
O0RE RRBIAIL N (EEZAIY) 135,000
= 135,000
JIZE0iY W eAlnel 243 3,534,640 5,280,586 A1,695,946
2 45,562
= 2,269,321
Al 1,219,767
&g LA0IE 017 N 391,800 436,000 A43,200
= 117,540
A 274,260
402 Q12 X201 391,800 436,000 A43,200
= 117,540
Al 274,260
02 SI2EXHEAIY 22 (OIR T R) 391,800 435,000 A43,200
O 2A01F 017 N 391,800
= 117,540
Al 274,260
Qe M J|EK @ 434,800 625,000 A190,200
= 130, 140
Al 304,660
202 048 1,000 1,000
01 =2uHo1b| 1,000 1,000
OS2 Maie N8 &% 1,000
307 212401 433,800 624,000 A190,200
= 130, 140
Al 308,660
RIEE PO EES 433,800 624,000 A190,200
OS2 2 1 N 433,800
= 130, 140
Al 308,660
2 gaxH K 206,100 263,800 AB2,700
= 40,500
A 165,600
201 Zere | 2,000 1,800 200
01 AFR22IH| 2,000 1,800 200
O MM 23 2 HE 2,000
202 01| 1,600 1,600 0




SN OIRED
BB 01RO 2B 23
ohel: Jl2S01g Y ARl BB (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 1,600 1,600 0
OZ g4Xelld 88Xz 1,600
307 elzto| & 202,500 265,400 262,900
= 40,500
Al 162,000
02 QA HAIEE X 202,500 265,400 62,900
O&d gdxell X 202,500
== 40,500
Al 162,000
A0 =2 20 7Y N 77,700 84,000 26,300
= 22,200
Al 55,500
307 elztol & 77,700 84,000 26,300
= 22,200
Al 55,500
02 2B YA R E £ 77,700 84,000 26,300
OZA0F 24 U 28 K& 77,700
= 22,200
Al 55,500
HEd FEES NEAEY 93,600 112,000 18,400
= 40,950
= 11,700
Al 40,950
307 @120l & 93,600 112,000 18,400
= 40,950
= 11,700
Al 40,950
02 2B YA R E £ 93,600 112,000 18,400
odgd 282 228 NE 93,600
= 40,950
= 11,700
Al 40,950
o AN FSHAMY 9,000 9,000 0
S 2,700
Al 6,300
307 @I2to1 & 9,000 9,000 0
== 2,700
Al 6,300
02 LB HAHEE 9,000 9,000 0
Ogal=t2(d) Mol X2 9,000
== 2,700
Al 6,300
OIS0lE ZHHLSA 1,260,000 840,000 420,000




SN OIRED
MM (P 20F XA 25|
Chel Jl2E0ie o rAlAke st (cre:xigl)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
= 1,260,000
308 AXIHMSOI & 1,260,000 840,000 420,000
= 1,260,000
13 I 2 S0IeHE & A AL 1,260,000 840,000 420,000
omsud o’éﬂﬁ%_@}/\f%(EEZM%*) 1,260,000
& 1,260,000
LAY SZEINSAIE (HEAIS) 432,000 432,000 0
= 384,000
Al 48,000
308 RXISHMSOIH 432,000 432,000 0
& 384,000
Al 48,000
13 SI1 2SO & X2 A I 432,000 432,000 0
O2ANE SFMEAME 432,000
& 384,000
Al 48,000
R AAI0DF AHoHE X2 59,940 66,700 A6,760
= 17,982
Al 41,958
307 QI2H0| M 59,940 66,700 26,760
& 17,982
Al 41,958
02 QIRHA LA E X 59,940 66,700 A6,760
OMF A0 FHetd K& 59,940
& 17,982
Al 41,958
LA 2] & S AFAAY 29,900 29,900 0
201 L2 | 28,300 28,300
01 At 22|l 28,300 28,300
OZ8+H =HHIIE M= 3,000
OUEOISHLHE sz Z M8 A
x= 25,300
202 o4t 1,600 1,600
01 =34 1,600 1,600
OfbrAAY =8 SXEZHESHXS) 1,600
SN IN e WAL Y E S g 45,000 45,000 0
= 13,500
Al 31,500
308 AXIEHMSOIN 45,000 45,000 0
= 13,500
Al 31,500
13 I 2SO E &R E AL 45,000 45,000 0
O==4EXHR (F10]) AFAAE 24 45,000




SN OIRED
BB 01RO 2B 23
ohel: Jl2S01g Y ARl BB (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 13,500
Al 31,500
WA X2 27,998 53,383 N25,385
= 8,399
Al 19,599
307 gl2to| & 15,141 24,583 N9,442
=S 4,542
Al 10,599
02 QB HANEER 15,141 24,583 N9,442
OgAald ~=Hl XI&H 15,141
< 4,542
Al 10,599
402 QI”F X201 & 12,857 28,800 15,943
= 3,857
Al 9,000
02 QI A2 AL E R (0IHTHE) 12,857 28,800 15,943
OLAE JIXHM X 12,857
= 3,857
Al 9,000
=2 =8 s N 4,602 8,153 A3,551
= 4,602
402 2I2FX=01 & 4,602 8,153 A3,551
= 4,602
02 QI T2 AL EE (01X THE) 4,602 8,153 A3,551
Ol=x2 =& sk 4,602
= 4,602
2 Y Kotk WX At 7,800 15,600 AT7,800
< 2,340
Al 5,460
402 QI2F X201 & 7,800 15,600 AT7,800
= 2,340
Al 5,460
02 QI X2 AL EE(OIETHE) 7,800 15,600 AT7,800
O2AlE FF Kot WX 7,800
= 2,340
Al 5,460
LAY XNSSAIE X (M EAY) 160,000 160,000 0
== 100,000
Al 60,000
402 2I2E X201 & 160,000 160,000 0
< 100,000
Al 60,000
02 QI X2 AL EE(OIHTHE) 160,000 160,000 0




ST HHAEW
BB 01RO 2B 23
Chel Jl2E0ie o rAlAke st (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OgANE NS3AE ZHIXA 160,000
= 100,000
Al 60,000
d gg=d s2AE 182,400 0 182,400
=S 54,720
Al 127,680
307 21201 & 182,400 0 182,400
< 54,720
Al 127,680
02 LB HANHEE 182,400 0 182,400
O&d gg=2 s=XA 182,400
& 54,720
Al 127,680
TOAL LH=E0IE OHEAHE =88 100,000 0 100,000
= 100,000
308 XtXIEMSO0IE 100,000 0 100,000
S 100,000
18 S| 2SO ZB &HASAIE 100,000 0 100,000
OT Al =01 HEH & & (EEZALY) 100,000
== 100,000
A HASEA KE 12,000 0 12,000
= 3,600
Al 8,400
301 EetE NS 12,000 0 12,000
== 3,600
Al 8,400
4 JIE2 8= 12,000 0 12,000
AT YASSA NE 12,000
< 3,600
Al 8,400
AR Y 2 ORI 2l 2,377,820 2,546,953 169,133
= 30,000
< 992,314
Al 1,355,506
SAEA HY SR At (HEALY) 375,640 485,640 110,000
= 300,000
Al 75,640
202 04l 640 640
01 =LHA LI 640 640
O==4SA Y BJAIY SNEH 640
206 MH=H| 375,000 485,000 110,000
s 300,000
Al 75,000




SN RTED
B O{QR0F AWM A3
el s EEd 2 0 PR 2 (Gt H2)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
01 =8l 375,000 485,000 A110,000
O==4tESTt iHYegs 375,000
= 300,000
Al 75,000
=MEX WS T AR (XIXEA) 52,000 52,000 0
201 er= 3| 2,000 2,000
01 AtR2tc|HI 2,000 2,000
OFBIEE +a)|2HTL RYRY B
BH| 2,000
06 M= Hl 50,000 50,000
01 =4l 50,000 50,000
O==4tETt g egs 50,000
SMTHREE YFAY 253,200 321,573 68,373
= 253,200
206 M=Hl 253,200 321,573 68,373
& 253,200
01 MZHl 253,200 321,573 68,373
O AE L RAFS (EEZALY) 253,200
s 253,200
NNz 22 311,100 297,860 13,240
201 Let=Ehl 174,100 90,860 83,240
01 AtR2t2|HI 46,100 45,860 240
OogX = EAHI(L=A) 29,100
O0gNEzd S2H € 43+l 15,000
ONgN=d 52 L= & BFANE 2,000
2 s5=4g4l 128,000 45,000 83,000
O EH (D& ELE) SH 36,000
ONXNEH RXAl2teldl 22,000
O0gX=d 75 70,000
301 22N = 7,000 7,000
14 JIEt2 = 7,000 7,000
OxH2x Ba= 7,000
401 AIZHIZ SO 130,000 130,000
01 Al&HI 130,000 130,000
ONXN =S HIIZA 22l 130,000
S0 2l € Xel 223,900 223,900 0
=S 100,000
Al 123,900
202 048l 800 800
01 =LHOHI 800 800
SY0T FHAE SEXEY 800
308 XXM SOIA 18,600 18,600 0




SN RTED
M HY20F FMH 235}
= N YN s BT = 0] foe N RS ol (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
07 AX R FE= 3,600 3,600 0
OsyogHs tds MMt 223 3,600
14 JIEIRE3 15,000 15,000 0
SYHEHE wds VIEREs 15,000
401 AlZHIZ SO 204,500 204,500 0
== 100,000
Al 104,500
01 Al&HI 204,500 204,500 0
Oosgogd(od, o) Meldl 4,500
SYH0Y ANES EA(EEZAIY) 200,000
= 100,000
Al 100,000
HEAEEHsS 2 LS 1,600 1,600 0
202 048l 1,600 1,600
01 2L A b 1,600 1,600
OSHUIN e & LT SE(EA
INE:)) 1,600
Hed 282 X 637,780 637,780 0
& 191,334
Al 446,446
307 lztol & 637,780 637,780 0
= 191,334
Al 446,446
02 2IZHBYAIHE £ 637,780 637,780 0
O0dd 288 X 637,780
= 191,334
Al 446,446
ool M SH 282X 43,410 43,410 0
[ 13,023
Al 30,387
307 elztol & 43,410 43,410 0
= 13,023
Al 30,387
02 2B YA E X 43,410 43,410 0
OO0l etZHEEE K& 43,410
= 13,023
Al 30,387
2SS AA 405,190 405,190 0
== 121,857
Al 283,633
307 212+01& 405,190 405,190 0
< 121,557
Al 283,633




SN RTED
M HY20F FMH 235}
= N YN s BT = 0] foe N RS ol (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 405,190 405,190 0
Ooold 282 XI¥ 405,190
= 121,857
Al 283,633
Al SEA 54,000 0 54,000
= 30,000
= 7,200
Al 16,800
402 2I2F X201 & 54,000 0 54,000
= 30,000
< 7,200
Al 16,800
02 QIZEXHE AL E (01X THE) 54,000 0 54,000
O SHAL 54,000
= 30,000
< 7,200
Al 16,800
=8 MENH wetols A 20,000 48,000 228,000
= 6,000
Al 14,000
307 el2tol & 20,000 48,000 /28,000
= 6,000
Al 14,000
02 QIZHEAAEE X 20,000 48,000 /28,000
Ou=3 HEiH wetd Al 20,000
s 6,000
Al 14,000
Aol Hgael 494,478 334,262 160,216
= 154,670
Il 10,108
= 213,660
Al 116,040
ZE UK Z2ZEH ESA012, ) 120,800 83,800 37,000
= 60,000
< 60,000
Al 800
202 04l 800 800
01 2LHoIH 800 800
Ozlatd tiUAl 2238l ESXd XS
& 800
402 2IZtA=01A 120,000 83,000 37,000
= 60,000
= 60,000




SN RTED
M HY20F FMH 235}
Chelr AZoH o2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 QI X2 AL EE(OIETHE) 120,000 83,000 37,000
Ozlgd OIUX 2Z&Hl 2= 120,000
= 60,000
< 60,000
AS0d HEEE XA 110,000 110,000 0
s 32,760
Al 77,240
202 04| 800 800
01 =LHOLI 800 800
OAE0d HEEHl XA 800
402 QI2F X201 & 109,200 109,200 0
= 32,760
Al 76,440
02 QI X2 AL EE(0IETHE) 109,200 109,200 0
OAENA HEEHl XA 109,200
= 32,760
Al 76,440
&AL GIZAIAE 2SAHY 30,140 31,860 A1,720
= 14,670
= 14,670
Al 800
202 04dl 800 800
01 2L AL 800 800
OUEADHTAIAE 25 X2 SHAEE 800
402 2I2FX=201H 29,340 31,060 A1,720
= 14,670
= 14,670
02 QI T2 AL EE (01X THE) 29,340 31,060 A1,720
OFEXI, NS4z, W-DSC S atd &
Bl 25 29,340
= 14,670
< 14,670
4= H2ES 91,430 87,754 3,676
= 64,000
= 8,230
Al 19,200
402 2I2F X201 & 91,430 87,754 3,676
= 64,000
< 8,230
Al 19,200
02 QI X2 AL EE(OIHTHE) 91,430 87,754 3,676
OdEol o123 91,430
= 64,000




SN RTED
MM Y20 2 A5
Chelr AZoH o2t EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 8,230
Al 19,200
CHAIHE KA 220 K& 10,108 6,848 3,260
J| 10,108
307 QIZ2t01 A 10,108 6,848 3,260
| 10,108
02 QIZHEAAHE X 10,108 6,848 3,260
OUMAHE NFAZAL R24H| XA 10,108
| 10,108
Aol e 2tel 10,000 14,000 24,000
201 L2 AY| 8,000 12,000 24,000
01 AR2teld| 8,000 12,000 24,000
OBt EXHABIES 2L 8,000
202 04dl 2,000 2,000
01 =2LHOd ] 2,000 2,000
OHEZA L AZHHA X ArE =& 2,000
HEHY o 22310 X3 90,000 0 90,000
& 90,000
402 QI X201 ™ 90,000 0 90,000
& 90,000
02 QIZEXHE A 2 (01 TH ) 90,000 0 90,000
OOz E2& 10 HAX XISAFS (EEZANE) 90,000
& 90,000
HRES3H 22 32,000 0 32,000
= 16,000
T 8,000
Al 8,000
307 QIZ2t01 A 32,000 0 32,000
= 16,000
T 8,000
Al 8,000
02 QIZHAAAIHE X 32,000 0 32,000
OHESSH 29 32,000
= 16,000
& 8,000
Al 8,000
HY2IZHI(HYRED) 31,980 0 31,980
QIA2IHI(HYEXIED) 7,200 0 7,200
olIE AU (HEEED) 7,200 0 7,200
101 2124 d| 7,200 0 7,200
01 8= 7,200 0 7,200
ORL2R+L(AXEH) 7,200
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